%omfile to exam ne barker code

clear all
N = 13;

tbh = 2e-6;
T = Ntb;

dt = tb/10;

t = 0:dt:2*T,

t = t+th/8;

t = transpose(t);
we = -40e3;

um=[11111-1-111-11-11];

u = zeros(size(t));

for ii=1:N
u=u+un(ii)*rect((t-(ii-1)*tb)/th);

end

% Nor mal i zat i on
mag = sqrt(max(u.*conj(u)));
u = u/ mag;

% Addi ng Doppl er/ Carrier Frequency
s = real (u. *exp(li *wc. *t));

plot(t,s)
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Matched Filter

S = fft(s);
V = S.*conj (9)
v = ifft(Vv);

vpl ot = 20*1 oglO(fftshift(v/max(v)));

plot(t,vplot)
grid on

Warning: Imaginary parts of conplex X and/or Y argunents ignored
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Least Mean Squares

%filter |length
M = 3*l engt h(s);
T = Mt ength(s)-1;

% desi red out put
d = zeros(T,1);
d(ceil (T/2)) = 1;

% Cbtain | nePC ker nel
h = I nsPC(shiftMatrix(s,M,d);

% Test
y = conv(s,h);

ypl ot = 20*1 0g10(abs(y));

pl ot (ypl ot)
grid on
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